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GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering - SEMESTER-V « EXAMINATION - SUMMER 2013

Subject Code: 351905 Date: 23-05-2013
Subject Name: Estimating Costing and Contracting

Time: 10:30 am - 01:00 pm Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.

Q.1 (a)  Define estimating and state good quality of estimator at least seven

(b)  Differentiate between depreciation and obsolescence. Write six method of
calculating depreciation and explain any one.

Q.2 (a)  State and explain how various types of forging loss are estimated

(b) A cylindrical boiler drum 3mX1m diameter is to be made from 10mm M.S
plate. Both the ends are closed by welding circular plates to the drum
cylindrical portion is welded along the longitudinal seam welding is done
on both the sides. Calculate electric welding cost using the following.

1) Rate of welding: 3 m/hr.

2) Length of Electrode required : 2 m/m. of weld

3) Cost of Electrode : 12 Rs/m

4) Power Consumption : 5 kwh/m. of weld

5) Power charges : 2.5 Rs/kwh

6) Labour Charges : 20 Rs/Hr

7) Other overhead charges : 150% of Prime cost

8) Discarded Electrodes : 5%

9) Fatigue and Setting up time = 10% welding time
OR

(b) A manufacturing company works on 50% capacity. Other data are as

follows:

1) Maximum production capacity : 20,000 units

2) Direct Material cost : 1 Rs/unit

3) Direct Labour cost : 1 Rs/unit

4) Fixed Cost : 40,000 Rs

5) Selling Price ; 7 Rs/Unit
Now a foreign company wants 5000 units at a rate Rs. 5 /= per unit
as being honor can you accept this order or not? why?

Q3 (a)  Draw Block diagram of element of cost.

(b)  Define Overhead allocation .State methods of overhead allocation and
explain unit rate method.

(c)  The prime cost of 600 laptop bags is 2,40,000 Rs. Factory overhead are
40% of prime cost, Administrative overheads are 20% of FC. For 30%
profit, What will be the selling price of one laptop bag?

OR
Q.3 (a)  Explain procedure for estimating welding material cost in gas welding.

(b)  Explain different conditions of contract.

(c) 500 M.S pin of 3 cm diameter and 8 cm lengths are to be prepared by drop
forging from 4 cm diameter bar stock. The cost of bar stock is Rs 160/=
per meter. Estimate material cost of pin. Assume one necessary loss.

Q4 (a) State six objective of Budget.
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Give reasons why an industry must earn profit.
A circular Aluminum rod is to be reduced from 50 mm to 40 mm for a
length of 80 mm in two cuts. Assuming cutting speed as 20 m/min. and
feed as 0.1 mm/rev. Estimate the time required for turning.
OR

Explain in brief area of cost reduction.
State benefits of cost analysis.
Estimate the time required to shape a keyway 40 cm long,1 cm wide and
0.5 cm deep in a C.I machine part. Assume
1) Cutting speed for shaping = 10 m/min
2) Feed = 0.08 cm /Stroke
3) Depth of cut not to be exceed = 0.25 cm
State modern tools and techniques to reduce cost.
Show on chart effect of changing different parameters on B.E.P.

(1) If fixed cost decreased.

(2) If sales revenue increased.

Estimate the time required for cutting 4 mm pitch thread on a M.S bar, 3.5
cm diameter and 10 cm long. Assuming cutting speed for thread to be 18.7
m/min.

OR

Explain different sheet metal operations.
Define pattern and explain pattern allowances.

Define and explain any five.
1) E.B.Q.
2) Approach
3) Salvage Value
4) Non Productive Cost
5) Catalogue price
6) Budget
7) Cost Accounting
8) Specification
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